Sci 10 Physics

Speed and Velocity Problems
1. A ball rolls along the floor at a constant speed. It travels 12.86m in a time of 2.47s. What is the ball’s speed?
2. A car starts at a position of 3.4m to the right of a lamppost. It travels to the left at a constant speed. It reaches a position of 19.5m to the left of the lamppost after 1.49 seconds. Calculate the car’s speed and its velocity.
3. A long distance runner runs at a constant speed of 3.80 m/s for 6.00 x 102 seconds. The she runs at constant speed of 2.20 m/s for 1.20 x 103 seconds. 
a. Calculate her distance traveled.
b. If she started at a position of -65.0m and ran in the positive direction the whole time, what is her final position?
c. If she started at a position of -65.0m and ran the first part in the positive direction but ran the second part in the negative direction, what is her final position?
4. A car travels at a constant speed of 62 km/h. How far does it travel in 18 minutes?
5. An object is seen to travel from a position of 24.3 m [E] to a position of 12.8 m[W] while moving at a constant speed of 4.1 m/s. How long did this take? 
6. Sound travels at a speed of 343 m/s in air at 200C. Light travels at 3.0 x 108 m/s. Suppose Lana and Ainsley are 65m apart when Lana claps her hands. How much time elapses between when Ainsley sees Lana clap and when she hears the clap?
7. Light travels at 3.0 x 108 m/s. How many minutes does it take for sunlight to reach earth which is 1.49 x 1011 m away?

Answers

1. 18.6 km = 19 km
2. speed= 22.9m / 1.49s = 15.369m/s = 15 m/s

velocity = 22.9m [left]/1.49s = 15m/s [left]

3. 2280m+2640= 4920m

b. 4920m -65m = 4855m = 4860 m

c. -65m +2280 m – 2640 m = -425m = -420m

4. 18600 m = 19 km

5. 9.0s

6. t sound = 0.1895    tlight = 2.16 x 10-7     ∆t = 0.1895s = 0.19s

7. 8.3 minutes
8. 9.048s = 9.0s

9. tsound = 0.1895s   tlight = 2.17 x 10-7s    tdiff = 0.19 s

